AP® MICROECONOMICS
2011 SCORING GUIDELINES (Form B)

Question 3
5 points (1 +1 + 3)

(a) 1 point:
e One point is earned for identifying the profit-maximizing quantity of labor as 100 units.

(b) 1 point:
e One point is earned for identifying the wage rate TreeMart pays as $10.

(c) 3 points:
e One point is earned for identifying the quantity of labor in a competitive labor market as 200 units.
¢ One point is earned for identifying the quantity of labor, 150 units, given a minimum wage of $12.5.

e One point is earned for explaining that the MFC curve (or the supply curve for labor) becomes
horizontal at the minimum wage up to a quantity of 150.
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Write in the box the number of the question you are answering 3 A.
on this page as it is designated in the exam.
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Write in the box the number of the question you are answering 3 B
on this page as it is designated in the exam.
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Write in the box the number of the question you are answering 3
on this page as it is designated in the exam.
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AP® MICROECONOMICS
2011 SCORING COMMENTARY (Form B)

Question 3

Sample: 3A
Score: b

The student answers all parts of the question correctly and so earned all 5 points.

Sample: 3B
Score: 3

The student lost both points in part (c¢)(ii) for incorrect answers.

Sample: 3C
Score: 1

The student received 1 point in part (c) for correctly identifying the quantity of labor hired under the
minimum wage.
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